Homework 7 MATH-1700-Es31 2013 January 24
8.3.11 I want y = 7sec#, so that
y? — 49 = (Tsec)® — 49 = 49sec?  — 49 = 49(sec?  — 1) = 49 tan> § = (7 tan 0)>.

In other words, I want cosf = 7/y, so let 6 be arccos (7/y). Since y > 7 is positive, so is 7/y > 0, so 0 is
an acute angle, so tan @ is positive. Therefore,

\/y? —49 = tan 0

(rather than |tan @] in general). T also have
dy = TsecOtan 0 de.

Now,

7
j\/yyiélg dy = ftang7secetan0d9 = 7ftan2 0do = 7J(SGC29 —1)de

sec

=T7(tanf —0) + C = 7\/y2—749— 7arccosg +C.
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